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PHYSICAL EDUCATION
PAPER - 111

Note : This paper contains seventy five (75) objcctive type questions of two (2) marks cach. All

Lad

e

questions are compulsory.

Theory of learning that cmphasizes the Stimulus-responsce association is referred to as
(1}  Gestalt Theory of Learning

(2} Operant Conditioning Theory of Learning

(3) Contiguity Theory of Learning

(4)  Remforcement Theory ol [.earning

An mdividual nerve fiber plus all the muscle hibers if innervates is called
(1) synaptic transmission (2)  motor cndplate

(3)  motor unit (4)  reciprocal innervation

What is the magnitude of momentum of a cricket ball of mass 420 gm thrown at 20 ms™' ?
(1) &2Ns (2) 84 Ns
(3) 8.6 Ns (4) 8.8 Ns

Perceptual learning as “an ncrease n the ability (o extract information from the
environment as a result of experience or practice with the stimulation coming from 1t was
defined by

(1) Pavlov (2)  Watson

(3) Skinner (4)  Gibson

Leaders who adjust their style, from onc that is task-oriented and dircctive to onc that 1s
more relations-oriented and less directive are lollowing the principle of

(1Y Democratic Leadership Theory  (2)  Situavonal Leadership Theory

(3) Consultative Leadership Theory  (4)  Equity Leadership Theory

[dentity the discase which is referred to as hypokinctic
(ly AIDS (2} Malana

(3)  Rhecumatic arthritis (4)  Enccphalitis

Paper-1T1 2 JA-047-17
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20 ms™ OC FE TE 420 T 3 TR AT SRR H T S T T UTLHToT 4 2 0
(1) 82 Ns (2) 8.4 Ns
(3) 8.6 Ns (4)  X.8 Ns
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ol

(1 usH (2)  Hellld

(3) THZF TREREE (4) TR 9T
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7.  Pertormance enhancement largely depends upon, except
(1} 1mprovement in coaching methods
(2)  advanced techno-tactical enlorcement
(3)  properly maintained infrastructurc
(4)  better nutritional supporl

8. The control of extraneous variables in experimental research alter the treatment s given
can be done through a technique called
(1) Post-Test (2)  Analysis of Co-variance
(3}  One-way ANOVA (4)y  Statusucal Regression

9. The Pedo rule measures

(1}  Deflection of Achilles tendon from the perpendicular
(2)  Angle ol medial foot arch
(3)  Proportionate length ol metaphallenges

(4y  Proportionate length and breadth of meta carpels

18.  Which of the following docs not come under the purvicw of constramt identification in
sports management ?
(1} Psychological (2)  Economical
(3)  Social (4)y  Geographical

11. Identity the cities in which Commonwcealth Games will be held in 2018 and 2022,

(ay  Gold Coast, Queensland (b)  Kuala Lumpur
(c) Edmonton (dy Durban

Codes :

(1) (a), (b) (2) (b)), (c)

(3} (a)(c) (4) (@), (d)

12.  According to Jan 2016 WADA list of prohibited substances and methods which of the
following 15 correct ?

a, Diurctics arc all time prohibited,

b.  [3-2 Agomists all ume prohibited.

C. Cocaine all time prohibited.

d.  Cuannabinoids are all time prohibited.

C, Beta-blockers arc prohibited in Golf,

i Narcotics arc prohibited in compcetitions.

Codes :

by abedd 21 Sl
3y b ed 0 (4 @abaae |l

Paper-1T1 4 JA-047-17
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() (a), (b) (2) (b} (¢}
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16.

Which bones are not movable portion of skull 7/

(ay Mandible (by  Maxilla

(¢)  Frontal bone (d) Yygomatic bone
Codes :

(1 (a), (b). (¢) (2)  (a), (). (d)

(3)  (a). (b), (d) (4)  (b). (c). (d)

Sport team 1s a special type ol group. Key characteristics are :
(a) Collective sensc of identity

(h)  Structured mode ol communication

(c)  Authoritarian lcadership approach

(d) Co-leadership approach

(c)  Devclopment of norms and social rules

(f)  Sect of distinctive roles tor members

Codes :
(1} (), (hy, (d), (¢) | 240 (a),.(d), [@¥X1])
(3} (), (b), (e), (I (4) (b} (), (d), (1)

According to cognitive approach, the role of a teacher 1s to

(a) corrcct wrong answers (h) correct misconceptions
(c) Facilitate and supervisc (d) Tcach cftective stratcgies
Codes :

(1) (a)yand (¢) (2) {(a)and (d)

(3)  (b)and () (4y (b)) and (¢)

Identify the diseases which are not communicable 1 nature.,

(a) Cancer (hy Filana

(¢)  Rheumatic heart discasc (d)  Mumps

(e) Chikungunya (1y  [Diabetes
Codes :

(1 (), (¢), (1) (2)  (b). (d), (1)
(3) (@), (d), (¢ (4)  (b). (d). (c)

Paper-II1 6
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(a) HESE

(c) Theel dIn
FT :

(1) f(a), (b}, (¢)
(3 (a), (b), (d)

(b)
()

(2)

14, @olps § Tal4d 2 Ua [a9d TR 1 T8 31a1 § | 28 T 90 &

(a)  ETYTEER TR T AT
(by  TUTOT T TR T

(¢) TR "ge o gEeh]

(d) HE-TAge el
() FEwEl & fow vy gftsre & 9
E A

(1 (), (b), (d). (o)
(3)  (a), (b), (c), (1)

(2)

(4)

15. SIS gieehil o STHR 3T &1 IO 3l &

(a) 7ToTd IO F T&l FHLAT | (by  TTeTd SO S el &I |

(¢)  3ATE ST 99T TIET BT | (d) R TR TETAT |

ohd ;

(1) (a) 3T () (2)  (a) TR ()

(3)  (b) &R (d) @) (b) R (o)

(a) FET (b) TRIECIRAT

(c) THEH &5d UM (d) TeTgaT

(¢) Trememfe () T

ohd ;

(1) (a), (c). (D) (2)  (b), (d), (f)

(3) (), (d), (&) 4y (b)), (d), (&)
JA-047-17 7
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(a), (), (d)
(b), (¢}, ()

(a), (d). (e). (f)
(b), (¢}, (d), (D)
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Find the correct combination of the tactical abilities from the codes given below

Arrange the order of body measurcments from top to bottom as plotted on the table

designed lor determining mesomorphic component of somatotype by Heath-Carter.

Www.prepp.in
17.
(a)  Special intcllectual abilities
(b)  Special volittonal and emoutonal abilities
(c)  Special motor abilitics
(d)  Spectal abilities ol perception
Codes :
(1) (a), (c), (d) (2)
(3) (), (o), (0) (4)
18.  Which of the following are correct 7
, ¢ - 3 (Meuan — Median) b
(@) 5y = Standard Deviation (b)
Q
B Kael=Ss o o ()
. PLJ{J B Pm
Pyo + Py
© K= T (1)
Codes :
(1} (a)(c), (o), (f) (2)
(3)  (b), (), {c). (e) (4)
19,
(a) Biceps girth (b)
(¢) Height (d)
(cy  Bonc Humerus
Codes :
(1) (e), {d), (e). (b). (a) (2)
(3} (b}, (a), (c), (o), (d) ()
20, What arc the Departmental organization type ?
(a) Line organization (b)
(¢) Formal orgamization (d)
Codes :
(1y  (a)and (d) (2)
(3}  (c)and (b) ()
Paper-II1 8

Calf girth

Bone Femur

(d). (e}, (). (a), (b)
(c), (¢}, {d), (a), (b)

Functional Organization

Commillee organization

(h}and (d)
(¢cyand (d)

JA-047-17
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17, = few 70 w2 & g arret o o AT T e

(a) fafere gifgs erqan

(b) TANTZ TehodTede: Ua YerTeaeh &7aa

(¢) TaTeTe TR ermeTs

(d) fafere sHE aHamn

H ;
(1} (a), (c), (d) (2)  (a), (b}, (d)
(3} (d), (¢), (a) (4) (b)), (c), (d)

18. Tr=TafEs 9 9 % 9 & 2

, 5 3 (Mcan — Median) b S = P{J{} + P]{} p
(@) 5k = Standard Deviation LU & 2 =50
Q - i X — M
C Kijmeme—— —— (dy T =50+ 10
© . Pyo—Pyq o L ]
Py, + P Py, — P
0() () _ , 90 L)
© Ky="35 B G 2 w0
@
(I} {H}‘J (C}ﬁ ('::}, (f} (2} {:b:}* {d}i {.C}‘J {‘tv}
(3) (b, (d), (c), (&) (4)  {a), (b), (c), (d)

19. 219 Y g Ueliad 9079 9 9= 60 37T = 39 YN O8] sh T e9eld i, 5% SR
TeRR] o TR " & 0T 55 17T Zeet U =iaad 641 T4 &

(a) EEEE MY (b) THIF T

(¢) A (dy  afey T

(e)  ifer

S LA

(1y (), (d), (c) (b), (a) (2} 4d) () dc). Xa), (b}
(3) (b), (a), (c), (e), (d) (4)  (c). (e), (d), (a), (b)

20, T GraT W 99T Bl € 2

(a)  ©ITET HEA (b) HETCHSE T
(¢) AT G (d) Wi T
B ;

(1) (a) 37T (d) (2) (b)) AT (d)
(3)  (c) 3T (b) (4) () AR (d)

JA-047-17 9 Paper-IIT



www.prepp.in frepp

Your Personal Exams Guide

21.  Arrange in ascending scquential order in which the following Commonwealth Games
were held :

(a)  Brisbane (Australia) (by  Manchester (England)
(c) Kuala Lumpur (Malayasia) (dy Glasgow (Scotland)
(e)  Edmonton (Canada)

Codes :

(1) (a), (b), (c). (d). (&) (2)  (a), (b), (c). (&), ()
CAE e ) dekdbiad) ST et ol R

22, Fmd the correct sequence ol chemical changes that occur during anaerobic glycolysis

(a) Pyruvic acid (b) Fructosc 1-6-diphosphatc
(¢) lactic acid (d) Glycogen

(c)  Glucose (f) Glucosc 6 phosphate
Codes :

(I} (€], (d), (b), (1), (0); (&) (2)  (d). (e), (1), (b), (1), (¢)
(3) (d), (e), (b), (1), (a), (c) (4)  (c), (d), (D), (b), (¢), (a)

23.  Arrange the following theorics in chronological order :
(a)  Zallman’s Three-Factor Model (Aggression)
(b)y Cognitive Somatic Anxiety Qucestionnaire (Statc Anxicty)
(c) Ficlder's Contingency Theory (Leadership)
(d)y Cogmuve Evaluation Theory (Intrinsic Motivation)
Codes :
(e (i) (d) (b)
2y (@ (b) (c) (d)
(3)  (b) (d) (i) (c)
4) () (c) (b) (a)

24, The correct sequence of full pattern for goal directed activity 1s depicted by the process
(a) Consummatory Behaviour (by Neced
(¢) Incentive ()  Drnve
(c)  Preparatory Activity
Codes :
(h (o) (e) (b) (@) (d)
(2) (b) (d) (c) (c) (a)
(3)  (a) (b) (d) () (e)
(4) (b) (c) (a) (d) e
Paper-IT1 10 JA-047-17
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21, FefETEe sHoees Wal o6 ST s T aaaied i ;
(a) Tor= (ee2ierm) (b) AR ()
(c)  SRITCATCTAYY (Ve (d)  TOTRT (THIZETS)
(¢) UEHET (FTET)
E A
(1) (a), (b), (c), (d), (o) (2)  (a), (b), (c), (e), (d)
(3)  (e), (a), (¢}, (b), (d) (4 (e), (a), (b), (¢), (d)
22, TR TEEERl ATEE & TR 2 AT TGl o TRl 9 i g a il ;
(a) UTEEEF T (b) e |-6-TSHRITRS
(¢) T2 3T (d) ToTZaRIsH
(¢c) ToTHIE (1) ToTHE 6 B0
E A
(1} (e), (d), (b), (f), (c), (a) (2) Ak ), VB th). (a), (¢)
(3)  (d), (e), (b), (1), (a), () (4) (o), (d), (), (b), (), (a)
23, TemEd (9Tl 1 Feshd H SHaig S ;
(a)  ToTeTH= - Hieet (TeH)
(b) THTHINCE HHZH TaFTg2] FAVEIL (LT Uizl
(c) Tosy Fre T dl SR (FEI9T)
(d) HIEINEE TEAUYE R (30 AMEETHE)
E A
(1) (c) (a) (d) (h)
2y (a) (b) (¢) (d)
(3) (bh) (d) (a) (c)
4) (d) (c) (b) (a)
24, <1 st iafaty & q¥ e @1 el o sy FEteriad uishaT g S9TET S §
(a) TV KA GEYT AR (b) TELH
(¢) W () GETeAs
(e) TR &I | SIET Mdtare
C T
(o (c) (b) (a) (D)
2y  (b) (d) () (c)  (a)
(3)  (a) (b) (d) () (c)
4y (b) (c) (a) (d) (¢
JA-047-17 11
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Arrange in a scquence the steps to be followed on the basis of principle of first aid, for
athletic injuries (a fractured humerus bone)

(a)  Appropriale treatmernt (by X-ray
(c)  Obscrvation and asscssment (d) Refer to hospital or specialist doctor

(e) Immobilizaton and stabilizavon () Assurance to the victim

Codes :
(1) (), (). (&), ((b), (1) (2)  (d). (b). (@), (e}, (©), (1)
(3) (1), (c). (c), (b), (a), (d) (4y (¢, (). (2),(d), (b), ()

Given below are teaching stages ol techmique training to the beginners. Arrange these
stages scquentially using the codes given below

(a)  Explanation (by  Demonstration
(¢c) Lcad-up gamc (d) Practice

Codes :

(1y (b} (), (d), (¢) (2)  (a), (b), (d), (c)
(3)  (h), (d), (c), (@) () (a), (b), (c), (d)

Giiven below are three types of psychological investigations :
(A)  Field experiments

(B) Laboratory cxperiment

(C) Ex post facto ficld studies

IT the above mvestigations are arranged m descending order in terms ol researcher’s
ability to control sccondary variance the typical order would be :

(1) (B), (A} (C) (2) (AR (C)(B)
(3)  (A), (B), (O (4)  (C), (B), (A)

Roger’s physical fitness Index 1s derived from comparing achicved strength Index with a
norm based upon imdividual’s

(a) Height (b) Sex

(c) Body composition (d)y Ponderal Index
(e)  Weight (I Age

(g} BMI

Codes :

(1) (), (b), (D) (23 (h). (¢), (d)
(3 (d) (D). (o) (4)  (b), (e), (1)

Paper-1T1 12 JA-047-17
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UATE T D F T T (@1 1 ST 1 97 28, B U (U [Aihear) o Wgid & ear
WY 3T I Gl HIAT o FHH H AT HET -

(a) SUYH TS (b) THFII

(¢) TR A Goid (d)  2TEdTer 3T Taemost sl {6 AT |
(¢) TEEAFT-ZAM T2 S PR AT | (1) HiTSd 6 STves A |

E A

(1) (a), (c), (e}, (d)(b), () (2)  (d), (b, {(a), (e}, (¢}, (D)

(3) (D, (e} {e), (b). (a), (d) (4) (), (1), (e).(d), (b). (a)

(a) AT (b) VETH

(¢) ATE-3 T\ (d) T

E A

(1) (b), (a), (d), (c) (2)  (a), (b), (d), (c)

(3} (b), (d), (©), (a) (4)  (a), (b), (c), (d)

=Tl J17 WERTT 3R S 2iTeT 20 I g

(A) TS UL

(B) ©ERZL TR

(C) UFH TRZ ] Thice A4

I I el did 1 Tl I i TR i 70T & 28R a9 3TaRE
T egaterd fo6u U g | A el e e g

() (B), (A), (C) (2)  (A), (C), (B)
(3F I%LABYE (0) (4) (O (B), (A)

ST ORI S3TaT JAshish I19 & Teh TIe YT o631 47 &, ST &Aiad o [ a1d Uy 39
g9

(a) ©FE (b) TeTT

(¢) IR T (d) UFEXet TAHH
) WX (f) 3w

(g) NTHITE.

BT

(1} (a), (b), (1) EEr  dEaiek i
(3)  (d), (D), (c) (4)  (b), (c). ()
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29, Find the correct sequence of Approaches to Curriculum Evaluation :

(a)  System Approach (by Manageriul Approach
(¢)  Behavioural Approach (d)  Humanistic Approach
Codes :

(1) (b), (a), (¢}, (d) (2)  (c), (b), (a), (d)

(3)  (c) (a), (b), (d) (4)  (a), (b), (d), (c)

30.  Arrange the bones n sequence from medial to lateral (Anatomical standing position) :

(a)  Hamate (by Trapezium

(¢y  Pisiform (dy Capitate

(c)  Trapezoid

Codes :

Uy (a) (e (b (@08 (2)  (c). (a), (d), (e), (b)
(3)  (d), (b), {c). (a), (e) (4y (b)), (c), (a), (e). (d)

31. Given below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : Humanism 1s the revolt against depersonalization and as the emergence of
the beliel that a human being is an individual.

Reason (R) : Humanism allows for individual development of talents, total fulfilment,
cncourages total involvement and participation in all that is going around us,

In the context of the above statements, which onc of the following is truc ?

Codes :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation of (A),

(3 (A)is true, but (R) 1s false.

4y (A is falsc, but (R) 1s truc.

32, Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R ;
Assertion (A) @ Exercise 15 a stress that tends (o upset imnternal environment n respect of
oxyegen and carbon dioxide, water and glucose content, body temperature cte. and
the body makes an elfort to adapt the stress.

Reason (R) : Any stress is harmtul and may lead to fatal injuries.

In the context of the above statements, which onc of the following 1s truc ?
Codes :

(1)  Both (A) and (R) arc true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)is true, but (R) is falsc.

(4y  (A)is false, but (R) s true.

Paper-1T1 14 JA-047-17
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29, UIHFE % T o A H ST o Wl T B TEA HI
(a) VIO gl (b) TR gIeRIoT

(c) CHIERANRI gEm] (d) FFeIATEmR! gftzehm
FT:
F

(1Y (b), (a), (c), (d) (2)  (c), (b), (a), (d)
(3 (c), (a), (b), (d) (4)  (a), (b), (d), {c)
30, AT igA & W g MYesh T 2T % R (YT TEAT HadT i) § SEred Hie
(a) ©HE (TSI &) (h) 2T (Teeie)
(¢} THTSTRRT (2w (d) HZ (THE)
(e) gHmIzE (AvT Ts)
E A
(1) (a), (), (b). (&), {(d) (2)  (c), (a), (d), (¢}, (b}
(3) (), (b), (c) (a), (e} (4) (b}, (¢}, (a), (e), {d)

~ =

31, Far ?F?iil?ﬂrﬂUﬁTU%r Teh 31TieReA (A) ?? dﬂ‘(g‘{qﬂ RED (R) & :

ARTHAT (A) : FFEFTATE SRR % g T e & o e § ARE v st &
B3R gl |

TH (R) : AMEEER §OX AR AR S 97 &1 61 & S9E e uiend w1 fasw, 9o7 ddfie,
qATIETT Ue W aTiTaT 1 Uiedled & & |

ST T AT & Hed H FEeiEd 0 T FF 91 HUE e § 7

ohd ;

(1) (A) 3T (R) TF1 FET & 3T (R), (A) F el AT |

(2)  (A) 3R (R) TH1 T&T &, B (R), (A) ol T&T AT Tal & |

(3) (A) WETE, 3T (R) W& TRIT |

(4) (A) TR R & &I (R) W1 Z |

=

32. A T A IS0 M E, U SR (A) & AR 580 G (R) F
FIWHAT (A) @ BT U Ta1 &, ST SATFASAT Tel HlelT STE-SFES, et Uel Tolahidl o<, IR
ST T T AT E |
T (R) & 1T 9 &1 2RI BT & 277 SEe 912 oh1 01 W9 2 TRl 2 |
SIS BT FHUF % 45 T Meliad 0 ¥ & 97 97 96l & 7
&
(13 (A) 2T (R) TFT &I & 3T (R), (A) T T == E |
(2)  (A) 3T (R) TF1 F&T &, TR (R), (A) I T&T AT 81 & |
(3)  (A) TETE, JRX(R) Hel 72l & |
(4)  (A) TR TR Z 3T (R) TET T |
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Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : A volleyball player smashes with feet ofl the ground, there would be a
torquc on lower body causing it to rotate counter to the movement of the upper
body, lessening/no change in the angular momentum,

Reason (R) : A rotating body will continuc to turn about its axis of rotation with constant
angular momentum unless an external torque act on it.

In the context of the above statements, which onc of the following is truc ?
Codes :

(1}  Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation of (A),
(3)  (A)istrue, but (R) s false.

(4 (A)is falsc, but (R) 1s truc.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R ;

Assertion (A) : The trait approach of personahity holds that traits are relavvely consistent
and cnduring in naturc.

Reason (R) : Traits are considered to predispose a person to acl n a certain way
regardless of circumstances, situations or environmental factors.

[n the context of the above statements, which onc of the following is truc ?
Codes :

(1} Both (A) and (R) arc true and (R) 1s the correct explanation of (A).

(2} Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is true, but (R) 1s falsc,

(4y  (A)is false, but (R) s true.

Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : Students arc often disadvantaged in Physical Education because of
rrelevant attributes such as gender, skillfulness, race and physical appearance.

Reason (R) : All curriculums are reviewed to detect bias and stercotyping,
In the context of the above statements, which one of the following is true ?
Codes :

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is true, but (R} is falsc.

4y (A)s false, but (R) s true.

Paper-T11 16 JA-047-17
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TR
(1) (A) 3T (R) THT TET & 3T (R), (A) T Tel ST E |

(2)  (A) 3R (R) TH1 T&T &, T (R), (A) Tl T&T AT Tal & |
(3} (A) TETE, 3T (R) TEI TR 7 |
(4)  (A) TRTFRTE 2I(R) T&T & |

oy

T & ST 0 T E, U SR (A) & R TR @9 (R) ©

AIMHUT (A) : 2 THA 31TF TEHCTS H HET T € 16 g2 H AP (TRt 3R o 69 7
=eTel 16T 1 TR Bl § |

T (R) ¢ Taeroant el safod 1 v f@eg O 8 T97 S arel T S € 9 8 39
QT{TMT#&II TEATaEl =T UATeUTE e D a7 ?:T |
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E A

(1} (A) 3T (R) TH1 H&T § 3T (R), (A) F Wel A2 F |

(2)  (A) 3R (R) ST W&l . TRl (R), (A) = T2l o1& el & |
(3) (A) TETE, A (R) Tol ol & |

(4)  (A) TEI TR § AR (R) Tal ¢ |

e &1 e T30 T E, U S (A) B SR G T (R) B

FUHUT (A) 1 STITETTE S8 [oFT, SHI9TeT, USIld ZA IR -6 3 B0 IR 912 & o7
I T THAE G © |

T (R) & TATTE T TR 1 TEAT A o A0 Ol WSIheT S TeET Hi ST
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T

(1) (A) 3 (R) TFT W& & 20T (R), (A) =l WLl ZEAT T |

(2)  (A) 3R (R) ST W&l €. 7 (R), (A) T Tel ST el & |

(3) (A) TETE, AL(R) TET @15 |

(4)  (A) TR TR E 3T (R) TETF |
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Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : Almost 96 percent fluoride n the body 1s found m bones and  teeth which
1s responsible for the normal mincralisation  of bones and formation of dental
enamel.

Reason (R) : Excess ingestion of fluorides for prolonged period of time is the most
elfective means of preventing dental caries.

In the context of the above statements, which one of the lollowing 15 true ?
Codes :

(1)  Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),
(3)  (A)istrue, but (R) s false.

(4 (A)is falsc, but (R) 1s truc.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R :

Assertion (A) : The traiming at high altitude 15 of paramount 1mportance during
compcetition period when intensive workouts arc done,

Reason (R) : In speed endurance events and technique dominant sports, altitude training
docs not signiticantly contribute towards performance.

In the context of the above statements, which onc of the following is truc ?
Codes :

(1)  Both (A) and (R) arce true and (R) 1s the correct explanation of (A).

(2}  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is true, but (R) is falsc,

(4y  (A)s false, but (R) s true.

Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) @ Total variance of test score 18 the sum of true vartance and Error variance.
Reason (R) : True score and error scores are independent to each other.

In the context of the above statements, which onc of the following is truc ?

Codes :

(1} Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),

(3)  (A)istrue, but (R) s false.

(4y  (A)1s false, but (R} is truc.

Paper-II1 18 JA-047-17
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oy
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(1) (A) 3T (R) HT T&T § 3T (R), (A) F el AT F |

(2)  (A) FIR (R) ST W&l €. Tl (R), (A) & Tel o1& el & |
(3)  (A) TETE, 3 (R) Hel 781 & |

(4)  (A) TETTREIE AN (R) ol & |

=6

Frer &1 ST 20 T E, U SR (A) & R TR @9 (R) §
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E

(1) (A) 3% (R) T W & 3 (R), (A) FT Tel AT & |

(2)  (A) 3R (R) ST W&l €. Tl (R), (A) & Tel o1& el & |

(3) (A) TETE, AL (R) T8I @15 |

(4)  (A) TR TR E 3T (R) TETF |
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Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : Grading 1s the system ol exclusive objective rating with the help ol
standards.

Reason (R) : As objectivity 1s represented by standards which are based on rato scales.
In the context of the above statements, which onc of the following is truc ?

Codes :

(1} Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),

(3 (A)is true, but (R) 1s false.

4y (A)is falsc, but (R) 1s truc.

Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : The primary objective of a supervisor 1s to sce the organisation 1s
achicving its objectives and goals,

Reason (R) : Supervisor who 1s manager at the first level of management who oversees
functioning of manpower to achicve all 1ts goals,

In the context of the above statements, which one of the lollowing 15 true 7
Codes :

(1)  Both (A) and (R) arc true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3) (A s true, but (R) s false.

(4y  (A)s false, but (R) s true.

Given helow are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) ;

Assertion (A) : Holistic health 1s closely related to wellness.

Reason (R) : Achieving high degree ol wellness requires developimg and mamtaining a
satistactory level of fitness.

In the context of the above statements, which one of the lollowing 15 true ?
Codes :

(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is true, but (R) is falsc.

(4y  (A)is false, but (R) s true.
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Given below are two statements, one labelled as Assertion (A) and the other lTabelled as

Reason (R) :

Assertion (A) : During high intensity short duration exercises, carbohydrate 15 immediate
sourcce of cnergy but longer the duration, fat will take over as chicf energy sourcce.

Reason (R) : Not only carbohydrate and fat but also protein providing energy and protein
metabolic dertvatives enter the TCA cycle to release ATP.

In the context of the above two statements, which one of the lollowing 1s true 7

Codes :

(1Y  Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).

(3)  (A)is true, but (R) 1s falsc.

4y (A)is false, but (R) s true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : When a hammer 1s moving unitormly in a circle, its momentum gocs on
changing continuously but 1ts kinetic energy remain constarnt.

- — I e . o S
Reason (R) : Momentum p = myv but KE =35 my~. In uniform circular motion v changes

but v* does not change.
In the context of the above statements, which onc of the following is truc ?
Codes :
(1} Both (A) and (R) arc true and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A),
(3)  (A)is true, but (R)1s false.
4y (A)is falsc, but (R) 1s truc,

Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as

Reason (R) :

Assertion (A) : Muludimensional anxiety theory predicts that cognitive stale anxiely 13
ncgatively related to performance but somatic state anxicty 1s related to performance
in an mmverted-V manner.

Reason (R) : The performance is influcnced by one’s interpretation (positive and
negative) and not just the amount ol arousal.

In the context of the above statements, which onc of the following 1s truc ?

Codes :

(1}  Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),

(3)  (A)strue, but (R)1s false.

(4)  (A)is falsc, but (R) 1s truc.
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T JHRIETF B W S g ¥ e wrifesw Tty @i e o 8 el 3 O se
TAE |

% (R) ; (oA, (e (WshReass AT TehRIoeR) & Tuliead g1dl & 7 o Wiendar sl °Em |

FT

(1) (A) 31T (R) 3T W8T § 3T (R), (A) T TE AN E |
(2)  (A) 3 (R) T W& & 7 (R), (A) 1 W&T =0 TE1 & |
(3) (A)TEIE, g (R) T TR7 |

@) (A) Tl 5, g (R) T 5 |
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Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : Umimodel curmculums should be developed across the school and
community to draw on all possiblc resources for quality programming in physical
education.

Reason (R) : Main-theme of curriculums arc narrowly focusced and allocate considerable
time to the focus that results in greatest learning for students.

In the context of the above statements, which onc of the following is truc ?
Codes :

(1}  Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation of (A),
(3)  (A)istrue, but (R) s false.

(4 (A)is falsc, but (R) 1s truc.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R ;

Assertion (A) : The Moating up of the lceberg represents the clinical cases attended by the
physician.

Reason (R) : The water line represents the demarcation between apparent and mapparent
cascs.

[n the context of the above statements, which onc of the following is truc ?
Codes :

(1} Both (A) and (R) arc true and (R) 1s the correct explanation of (A).

(2} Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is true, but (R) 1s falsc,

(4y  (A)is false, but (R) s true.

Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : The focus of youth strength training programme should be on learning
proper lorm of technique rather than the weight Iilted.

Reason (R) : Propcr technique of weight training develops positive attitude towards
strength training and exercise n general.

In the context of the above statements, which one of the lollowing 15 true ?

Codes :

(1}  Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),

(3)  (A)istrue, but (R) 1s false.

(4) (A s falsc, but (R) 1s truc.

Paper-1T1 24 JA-047-17
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=i 21 e oW T £, U ST (A) € ST S % (R) €

ATHHT (A) ¢ T THeAl 2 TS T JAHISA T2 1 Fehy Toha1 ST 9120 drieh 9IieER
Totea 7 ToTATT SR FEET AT O T T GEIEAT B e RS ST W |

% (R) : TRTHEAT o T g € - B Hiwd R hiwd fEawa W s au o e e
AR T 21 I O |

SUEE 51 AT 3R HE O AEfeEd 0 F & °7 e Ta 6 7
G

N

(1} (A) 3T (R) THT1 T&T § 3T (R), (A) T gl AT F |

(2)  (A) 3R (R) TH1 W& €. o (R), (A) I T&T =202 BT & |
(3) (A) TETE, A(R) ToITI17 |
(4)  (A) TR TR E 3T (R) TETZ |

-~

AT &7 7 79U 0 &, Toh 3 (A) & 3 T8I TF (R) € -

AUEAT (A) 1 SMIT FT TETE 5 alfell SR ol g2 Bl S g1 58 ST aTe] =Rl
TTIAT =T WA el & |

A% (R) ; STo1-T@T S92 STE9aHH Jel & i [ 1 Aiamrde 2l & |

SR ST AT & A5 H FAfeiiad § 9 i 9T &2 961 & 7
hHe

=

(1) (A) 30T (R) T WETE 3R (R). (A) F T8 AT |

(2)  (A) 3 (R) =FTHET &, T (R), (A) 1 Tel 2 el € |
(3) () W&, ol (R) T T
(4) () I T E &R (R) T E |

oy

A &7 P 5T I €, T e (A) & SR g8 a9 (R) §

AHTT (A) 1 FAT IIST UISTI0T FHRIHH ] &= IS % FoT i o Tqfad ¥ & & T
T g LA TR |

% (R) : T HREHH FH TAMET T JHE: I W9 3T SR % U0 SRR
2GR I e=Riad il § |

SO BT HeFT o Hed T HelcliEgd 0 | & 9T 9 T8 6 2
EE

(1) (A) 3 (R) TFT W& & 20T (R), (A) =l WLl ZEAT T |

(2)  (A) 3R (R) ST W&l €. Tl (R), (A) T Tel & el & |
(3} (A) TETE, 3 (R) W& T 7 |

(4)  (A) TETRIE AR (R) W&
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Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : If regression co-efficient of X and Y 1s greater than one, regression
coctticient of Y on X must be more than one.

Reason (R) : The geomeltric mean between two regression coellicient 1s the co-ellicient
of correlation.

In the context of the above statements, which one of the lollowing 15 true ?
Codes :

(1Y  Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2} Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is true, but (R} is falsc.

4y (A)is false, but (R) s true.

Given helow are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) ;

Assertion (A) ¢ A test can have a high degree of reliability with showing a appreciable
degree ol objectivity.

Reason (R) : In test construction thercfore every ctfort should be made to securc high
objectivity.

In the context of the above statements, which onc of the following is truc ?

Codes :

(1}  Both (A) and (R} are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),

(3)  (A)istrue, but (R} s false.

(4y  (A)1s falsc, but (R) s truc.

Giiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) ; Management is the dynamic lile giving element in every organization.
Reason (R) : It 1s the activating force that gets things done through people.

In the context of the above statements, which one of the lollowing 15 true ?

Codes :

(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).

(3)  (A)is true, but (R) is falsc.

(4y  (A)is false, but (R) s true.
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= 37 U /U T E, U ST (A) € AR T dF (R) ¥

FUHUT (A) ; AG X 3T Y & (Q9F SUIEEHe Uk § g2l § al X 9C Y ol TU9H SIufHEgue
U ¥ R 2 AR |

o

[ .y L S 2 N - n s I o - L " - n
e (R) ; T TUY HIUTRPIUS & &= SANHAR 718 LT &1 HIOEPNE B1dT & |

SIS BT HUE1 % 45 T [=eIiad 0 ¥ & 97 9 T8l & 7
& :

=

(1) (A) 30T (R) 1 WET & 3 (R), (A) T T8 AT & |

() (A) 3T (R) 5F1 W61 &, o (R), (A) FI Tl =02 T80 & |
3) (A) T E AR (R) WA
(4)  (A) TETRIE AR (R) W&

e &1 e T30 T E, U S (A) B SR G 9 (R) B

AUEAT (A) @ THEI 2 T 399 W FH [AvaE-Edr 5 WEAE aEAe 9= % A9 Hl 59
TFAE |

TqE (R) : ZHMCY <% HEH T Fod T oI i -r2al Grrad i 1 e389d Yard ar s
Rl

ST A T & G § FreeiEd 5§ e G e e
E A

(1) (A) 3R (R) T HET S 3T (R), (A) FT 6l AR E |

(2)  (A) 3R (R) T T8 &, 6 (R), (A) 31 T camen 781 & |
(3) (A) W E, &R (R) W1 FI ¥ |

(4)  (A) TR T E AT (R) TRl

oy

A &7 P 5T I €, T e (A) & SR g8 a9 (R) §

2R (A) : TEE Ve TS ° Al Sad o arel o 811§ |

% (R) : 78 AR FI G167 9 §, 51 T & A1y T F1 T FaT & |

SRS ST AT & A5 H FAfeiiad § 9 i 9T @2 96l 8 7
ohd ;

(1) (A) 2T (R) TR W& & 30T (R), (A) & T =@ £ |
(2)  (A) 3R (R) ST W&l €. Tl (R), (A) T Tel & el & |
(3)  (A) TETE, 3R (R) T TR &

(4) (A) WEITRIE AT (R) TBl ¢ |
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51.  Match List — I with List — IT and sclect the correct option from the codes given below :
List — I List — 11
a. Agon 1. Vertigo
b. Alea 1, Compectition
C. Mimcery . Smmulation
d. [linx iv.  Chance
Codes :
a b C d
(1) il IV 111 i
(2} 1] B IV ]
3] il IV i 11
(4) AL i 1 ]
52.  Match List — T with List = IT and select the correct option Irom the codes given below |
List =1 List = 11
a, Sprain i Brain
b, Haematoma 1. Bone
& Dislocation il  Skin
d. Concussion iv.  Muscle
G Blister V. Joint
Codes :
a b C d g
el 1V v i il 1l
(2) v v 1 ] 11
(3) 1 ' 1y il I
(4) v Bl 1 ] IV
53, Match List — T with List — IT and select the correct option Irom the codes given below |
List -1 List = 1T
a. Coxal bones of pubic girdle 1. Cochlca
b. Far ossicles 1. Cytosine
5 Muscle proteins i, Ilium
d. Pyrimidines 1v.  Rhodopsin
Codes :
a b C (
Gl ] Bl 1 AL
(2} i1 i IV il
(3) 1] AL ] i
(4) LV il 111 i

Paper-II1
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51, gl — 10 gl — 11 3 YT HIFT &R A1 R T e F TR ST T

T - 1 T - 11
A, UTIT:f 1. T
b ufera i PIGRIRIG]
¢c.  THEE i, TP
d. Hgeze] v, AR
T :
a b ¢ d
(1) 1 v 11 1
(2) i Bl IV I

) i iy i i
) v i i |

LN
I~

AT — [ T G — [ F GHTeTd ST 3T A4 50 70 2 9 T87 39 T

T - 1 = — 11
a. 0= 24T (50T - iR
b.  ETHEIAT (THRTA) TR 1
.  ToEgE (fegeteRem) i
d. STCYHICR STEAT BT (SRR v, Ol
& FREAT T2 (W] v, a7
ohd ;
a b C d C
(1) 1y v 1 11 111
@ v iv i i i
(3} 111 v 1% 1l 1

(4 v Bl 1 ] v

LN
fad

T — | I G — [ § GAfAd H0 3R 7+ 150 70 $2 ¥ T6T 30 90

e — 1 T — 11

5
a.  EE TEe] B wEEd Bgd | TeRTeTE
b,  HH % AEEFT | FCA eI
c. T U i, =l
d. TEUHTESR o e

T

a b ¢ d
¢y ] 111 11 At

(2} 11 ] At 1

) i iy i i
@ v i i i
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. Direction ol causality

b. Attribution

& Collective cfficacy
d. Disposition  of  sclt-
handicapping
Codes :
a b C
(1) 1V 1 1
(2) ] 1l 11
(3) 11 1V 1
(4) 1l 11 1V
55, Match Last — I with List —

a, Purposctul

h. Pertinent

¢, Paced

d. Participatory
Codes :

a b C

(1) 1 1 11
(2) 11 1V ]
(3) 1V 1 1
(4) 1l 11 1V

Paper-II1

i1.

1,

Iv.

d

11

il

11.

1,

v,

d

1V

1]

11

Match List — I with List — II and sclect the correct option from the codes given below :
List —1

List - II
Percerved causes ol events and behaviour
Reflects the observation that groups often have
similar expectation for success.
Before contest feeling of a tcam member not
to take responsibility for group lallure but take
credit for group success after competition.,

Whether  cohesion  leads  to performance
success  or  perlormance  success  leads to
coheston.

[T and select the correct option from the codes given below :

List = 11

Students arc constantly active and
learning is equitable for all
students.

[Learners are kept on task mn a
climatc that 1s both safc and
challenging.

Lessons arc appropriatc for the
abilities, mnterest and experiences
ol students.

Activitics arc difficult cnough to
be  challenging  yet  allow
successful — practice  and  the
sequence ol activities 15 orderly
and has brisk momentum.
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1]

1V

Bl

T — [ & g4 — [ § gaferd

1.

11,

v,

i

i

prepp

Your Personal Exams Guide

[}

=T — 11

(=

HEAT3T 3T a8 = 9 T sh0]

T HiE TeleE FAT § S e % Ul
I TE I AT THE 7 FI ©

e W Ugel W %k WeE U8 W T
B & STEER 39 A8l I8 Sad 0T
ST ST |

L'j‘th.‘}::l.d Ff:l’:i y\ H’:&Q]'ﬂ e E=T 18] %‘a‘r -;‘7_%—59—]:1-
=51 Ve | Usheledl A€ §

FHITTT 3T 1 150 0 %2 d T&T 3 I

S

ST FHIN Wsha T8d & J97 W w7 SE ¥ §EH

=g O e s &

Ferefirat &1 TR AR AT S SR % A

T T UL T ST E

ST I AT, T TAT 396 F o0 IS S

g & |

S o o~ T P by - ™ .
CITETEAT - =0l oI YT ehigd &, TR HI 344

=

ARTAerss 3NATd fehaT ST Tehal & a1 Tfdiarddl
=T SHH &1 & 31T Zeh] Td o1 giar & |

d

Paper-IIT



wWww.prepp.in

prepp

Your Personal Exams Guide

56. Match List — I with List — II and sclect the correct option from the codes given below of

watcrborne discascs :

List =1
a. Protoroal i
b.  Cyclops 11
£ Viral 1.
d. Bacterial 1V,
¥,
Codes :
a b C
(1) 1 11 IV
(2) 11 11 v
(3) 1V 1 11
(4 v 11 ]

List =TT
Poliomyelitis
Cholera
Guinea worm
Round worm
Giardiasts

d
”
1
v
11

57.  Match List — T with List — IT and select the correct option Irom the codes given below |

List —1
a. Cyclicity of training b
b. Super compensation il.
3 Stair-case method il
d. Athletes  ability  and  1v.
potential
Codes :
a b 5
(1) 11 i AL
(2) 11 AL 11
(3) ] 11 i
(4) AL i 11

Paper-II1

List — II
Principle ol mdividuality
Principlc of periodisation
Principlc of progression of load

Principlc of over-load
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S d
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i v
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58. Match List — I with List — IT and sclect the correct option from the codes given below :

List — 1 List — II
a.  Chi-square Test L. G
X
h. Coellicient of 1. 552
Standard Deviation \ N
. Variance D ¥ G Wk
f
i
d.  Standard Deviation V. o
Codes :
a b C d
(1) ] 1 1V 11
(2) i1 i 1V 1
(3) i i 11 1V
(4} 11 1V ] 1

59.  Match List — T with List — IT and select the correct option [rom the codes given below |

List—1 List —II
(Skill test) (Reliability
coelTicient)
a. Broer-Miller tennis test 1. &7
b. Knox Basketball test . .90
28 Lockart-McPherson . .88
Badminton test
d. Brady Volleyball test vy 91
v. .80
vi, .93
Codes :
i b ¢ d
(1) i 1V vi 11
(2) v N 1 Vi
(3) 11 ' i v
(4} V] 1 11 v
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6.  Match List — I with List — IT and sclect the correct option from the codes given below :
List—1 List — 11
L. High performance L. Tactical action
b. Organization of competition il. Talent identification
Screening of children . Traming stage
d. Motor solution of compctition task  1v.  Competition system
Codes :
i b 3 d
(1) 1 11 Iy 1
(2) 11 1V 11 ]
(3) 1y il i L1
(4) 1] ] ) AL
61. Match List — I with List — IT and sclect the correct option from the codes given below :
List =1 List =TI
a. Johann Bernhard Bascedow . Founder of Gymnastics in
Germany
b. Griedrich Ludwig Jahn i, Primitive Gymnastics
Adolph Speiss
d: ‘PetHenrik Lina tii.  Turnverein
c.  Nicls Bukh 1v. Lingaid
v.  Philanthropmum
Codes :
a b @ d e
(1) \ 11 Iy i il
(2) v i ] A 1]
(3) \ 1 1 il v
(4) i1 Y i Iy il
62. Match List — I with List — IT and sclect the correct option from the codes given below :
List -1 List — I1
a. Ergometry L. Gas analyzer
b. l.ung venulation 1. Telemetry
o8 Oxygen consumption i1, Treadmill
d. Heart rate tv.  Metcorological balloon
Codes :
i b c d
(1) ) AL ] 1]
(2] il i IV L1
(3} 1 ] AL 11
(4) 1] AL ] 1

Paper-II1
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63. Match List — I with List — IT and sclect the correct option from the codes given below :

List -1
a, Damping i
b. Boundary layer 1.
28 Closc packed position i,
d.  Trading of Angular momentum  1v.
v,
Codes :
a b ¢ d
s il ' 1 i
(5 i ] AL 11
(37 ] Bl AL 11
(4) i il i i1

List — 11
Laminar tlow

Transler Irom one axis of rotation
Lo another

Oscillatory system
[Ligaments are taul

Specilic relerence signal used to
synchronisc

04,  Match List — I with Last — [T and select the correct option [rom the codes given below :

List -1
a. Psychoanalysis theory
b. Phenomenological Theory
ot Dispositional Theory
d. Trait Theory
& Behaviour & Social Learning Theory
Codes :
a b C d C
(1) 1 1 111 1V 3y
(2) 1V Bl il ' I
(3) 11 v ] 11 IV
(4) v i AL 1 1
Paper-II1 38

List — 11

1. Sheldon

1. Goldberg

i, Carl Jung

1v. Bandura

3 Abraham Mascow

JA-047-17



wWww.prepp.in

63, T - [ I — 11 ¥ AT T 3% 7 {Y M0 2 ¥ TR 39 G0

el

o]

=

(1)
(2)
(3)
4)

=

T — 1

S

b T

PR -
=) \'5? [GEAES

FoT=] U TT=T9T

TR Tl Tl &7

a h
11 v
11 1

] 111
v 11

11

1V

L.

Ll

v,

d

i
1]

11

= — 11

=

nans EIFH

50T o U 37T E gAY 9T OF R

T T g6

HHsHHIERTT & foTu e fafeme dee W

64, TAT— | T AT — || F AT HIT 3R A= 15U 10 $2 9 &1 3T I

cl.

n

(D
(2)
(3)
€Y
JA-047-17

Tl — 1

o

£, | . S
TR ATEE 21T

T Y

L ™

.

M i Y
I

- .o
o
-~

A

a b

1 11
1V 11
11 Y,
v 1

11

11

1V

A . " - My
FaldIL TS HRTeT T T

11,

d

1V

v

i

11

~

=l = 11
LN
3
dAAE A
., v
e
"

v

i

prepp

Your Personal Exams Guide

Paper-IIT



www.prepp.in rrepp

Your Personal Exams Guide

65. Match List — I with List — IT and sclect the correct options from the codces given below

List -1 List - II
(Author) (Quote)
a. Rosalind 1, Man is born; he struggles; he dies
Cassidy
b. N.P. Niclson il. The human movement 1s a body of knowledge,

not a proflession and as such 1t 1s an acceptable
umbrella under which a number of  groups
associated with movement oriented activitics can
huddle.

28 Conrad i1, If physical cducation is being defined as the art
and science of human movement, then why not
called the movement arts,

d.  John Chellers iv.  Movementl experiences are means of achieving
self wdentity, sell value, sell esteem, sell reliance
and sclf actualisation in the development of
soctally aware creative persons.

Codes :

i b i d
(1) 11 A% 11 I
(2) 1y 11 1 11
(3) Iy I 1 1
(4) 11 11 1V I

66. Match List — I with List — IT and sclect the correct option from the codes given below

List -1 List — I1
a, Respiratory infection 1, Ascariasis
b.  Intesunal infection 11 [.ymphatic hlariasis
i Arthropod-borne infection . Plague
d. Z00 Noses iv.  Mumps
Codes :
a b C d
(1) 1l 1 AL ]
(2) i il 1 Iy
(3) Iy I il Bl
(4) i AL ] 11
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67. Match List — I with List — IT and sclect the correct option from the codes given below :

List -1 List - II
L. Micro-cycle 1. Medium term control of training
b. Macro-cycle 1. Determination of performance goal
C. Starting point of planning 1. Long term control ol training

and control of training

d. Meso-cycle tv.  Short-tcrm control of training
Codes :
i b c d
(1) AL i 1 ]
(2) 1 il 1y i
(3) ] 1V Bl 11
(4) il i Iy 11

68. Match List — I with List — I and sclect the correct option from the codes given below
related o the characteristics of NPC

List =1 List = IT
5 Point ol Inllexion 1. 0.263
b. Co-cfficicnt of Kurtosis 11. 68.27%
¢. X+3o iii. X+o
" X+ 1o v, 99,735
v, 68.72%
V1. 99.37%%
Codes :
a b C d
(1) 11 ] Y 1l
(2} 11 1 vi v
(3) i 11 AY 1
(4) 1 11 vi v
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68, T - 1 FE - 11 gHAT T ST U O 6 [gerared & U 9 909 e T % O R
3T AT

=0 — 1 T — 11

L L
a. @R 3TH TARTET L 0.263
b.  FUGERIUC ATE FHad . 68.27%
c. X+3o i, X+o
4 X+ lo . 9973%

V. 68.72%
vi.  99.37%
E A
a b c d

M) i1 i A il

2y i j vi '

G) i iv i

(4) ] i Vi v
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69. Match List — I with List — IT and sclect the correct option from the codes given below :

List =1
(Scale)
a. Behaviour rating Scale
b. Attitude scales
¢ Social behaviour trend index
d. State-trait anxiety Inventory
Codes :
a b ¢ d
() 1l 11 1V ]
(2) 1 1% 1 11
(3) 1V 1 1 11
(4) 1l 1V 11 ]

il.

i,

v,

List - 11
(Author)
Gerald Kenyun 1968
Charles Cowell 1958
Charles D. Spiclbereer 1972

B .E. Blanchard 1936

70, Match List — T with List = IT and select the correct option Irom the codes given below |

List — 1
a. Protessional cthics - 2
b. Construction of Time table it.
ot Curriculum Planning 111,
d.  Age characteristics Iv.
Codes :
a b ¢ d
(1 1V 111 11 1
(2) 1 11 11 IV
(3) 11 1 1V ]
(4 1 ] 111 1V

Paper-II1

List - II
Type of school
Professional requircment
Individual difference

Selection of activities
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69. T - 1 H T — 1| ¥ FHAT T T A1E B T FHL ¥ TR I FAC

™ ~

T -1 T - 10
(AT) CIERICED
a. AR TG AT 3 TEE T 1968
b, 3G AU i, =" HEeT 1958
c. TS ST9RR vald e i, 9o S1 TIeE 1972
4. Terferor foer orer-TEn v, ELE TS 1936
ETE
a b C d
(1) 1 111 1% ]
(2) ] v 1 111

Q) v i i i

@ i iy i i

70, TE - 1 A - 11 T GATA B0 SR T /Y 70 T T I gE
:xn_l E-:\I iI_H

a. TSI AT Sidehe 1. Tl =hl Uh1

b, T RO F97E] i, J9TET 3TTEvaehd]
e, qTEeTsh = T IE s E R L)

d. 39 GaT T IV, DiGIEIER eI

o ¢
L=y

a b C d
(1) 1V 111 111 ]
(2) 1 1] 111 1V

) i i iy i
@ i i i iy
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Rcad the passage and answer the questions

The concept of vartable 15 utmost importance 1 researches done in the held of sports
psychology. In the sports psychology rescarch variables can be classificd in several ways,
Eminent psychologist Edward has classified varables in three (ypes — Stimuls varables,
behavioural vartables and organismic varables. From another perspective variables have been
classificd into two types — the continuous variables and discrete variables. The discrete variables
are lurther classilied as real discrete variables and artificially discrele variables.

The varables in research can be delined mm vartous ways, the (wo common types of
defintions being — constitutive delinttions and operational delinitions. The operationalization of
variables 1s crucial importance in carrying out actual rescarch. The tentative statcments of
expected relationship between two or more variables are called hypothesis. Needless to say thal
hypothesis 1s a statecment temporally accepted as true in the light of what is at the time known
about a phenomenon and 1t 15 employed as a basis for action 1n the search ol new truth. Research
hypothesis have been classitied into Null Hypothesis (H,) and Experimental Hypothesis (H ).
The Experimental Hypothesis 1s further classified into positive and negative hypothesis. For
testing a Hypothesis use of appropriate statistical technique s very essential.

71, Which of the lollowing varable/s can be lubelled as organismic variable/s ?

(a) Heart Rate (by  Task Complexity

(¢) Intelligence (d)  Errors made while learning task
Codes :

(1) (b)and (c) only (2 (a), (b) and (¢) only

(3)  (a)yand (¢) only (4 (b}, (¢) and (d) only

72.  Which of the following is an cxample of artificially discrete variable 7
(1} Sex
(2} Nationality
(3)  Examination rcsult in terms of pass and fail
{4y  Number of children in a tamily

73.  Which of the following arc operational definitions of intelligence 7
(a) Intelligence is an ability to think critically, solve problems and adopt to the novel
situations,
(b} Intclligence rating by an observing psychologist.
(c) Intclligence as a scorc on Raven’s progressive matrics.

Codes :
(1} (b)and (c) only (2)  (a)and (b) only
(3)  (b)only (4) {a), (b) and (¢)

74, “Sportsmen are more extroverted than non-sportsmen” 15 an example of
(1} Null Hypothesis (2)  Directional Hypothesis
(3} Non-directional Hypothesis (4)  Unverhable Hypothesis

75, Which of the lollowing represent/s stylisuically correct version/s ol Hypothesis 7

(ay  To study the relavonship of intelligence and sports performance.
(b} Is there a relationship between intelligence and sports performance.
(¢)y Intelhgence and sports performance are positively correlated.

(dy  Intelligence and sports performance are not related 1o each other.

Codes :
(1y  (a) and (b) only (2) (b)) and {¢) only
(3) (&) and (¢) only (4y  (¢) and (d) only
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TI=ITATE T=IT9T & TEeRT WY & ST S0

eraﬁma?mrrwwwmrﬁmmmmm ::TFQT%WTITTTn IWWTE{STFW
ST T ﬂWWWWWWW% |Wrr:wwv?ar€=rmmm=rmrr
WWT—WW WW:{T%JT T T T | S AR § = 81 S0l § gty
T E A = ST Ferershgerel = | fqaisgaa =9 1 g arafees 9 Y HH Eaewgdd 9 | e
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THIE | R 1 fatg= = § ofvarfed feeen ST deedl € W WS ST &1 9ieaTOTT § —
T{EACTes UITATONT 31 HleTIcsh Ol | Slidideh 38 i o ol =R1 1 Tifeld ]
2T T quT & | &1 9T &1 | T4 a0 o & Suifad Teel o AT &9 &1 Johedl Fead § | 98
F5-l I AATIFRAT el & T Yol 98 FI § S [l 98T i SR 9UF 1 eId & 3TER
e W fohar Sda1 & a9 26 A0 W B @ieT § iR % 3MUN & &9 H Ya0 5 &0 Sar & |
SFTEU GHFCTT 1 T B (H,) AT TRORIbee 2aiafad (H) % B9 7 2 w2 o
UFRIIRIAZA SRS 1 U TehRIcHE 3T ThRIcTH gRdiay ¥ o far mar & | 2remeras
TR o TRIETOT o TAT g WIEIehid deheh dgd T1avae & |

71. T=feiEa 0 ¥ o5 9098 &7 3T 97 el 57 95d1 & 2

(a) EEFAE AT (b) TR I SATeTd
© T=F (d) @RI ] TEEd T HI T et
HT
(1) =Fael (b) AT (¢) (2) A (a), (b) AR (c)
(3)  FaA (a) W (¢) (4)  FwAA (b), (¢) N (d)
72. FEREd W " FE W FET T Y Eewgd A g
(1) Tem
(2) TR

=

(3) 3o &Tr( 2] <a = 31 ge § TLT 31 IO
(4) TR IRER | gl & 9E

73, FreAieie 9 € 1 9 g sl yeEreres ner €
(a) G TS G T WO, GO H A H a0 TE e & g a1 w5
¢1’11~ B

(b) WWWWWWWTFWETI
(¢) g, e UmieE Higed T 7 (TR & |

HE :
(1) et (b) 2T (¢) (2) A (1) 3T (b)
(3)  HFA (b) (4)  (a), (b) 3T ()
74, WT@T@WEFTWTFWWWWW? e FTeriEa = SERTr €
(1) =1 erearfe (2) ST e
(3)  AF-EEEEEE EeWE (4.) WWWWT"W
(a) g AR CoTHe [T & Fe H T FHET |
(b) T FF T AR & T T HE T & |
(¢) ofE T Tesge (oI GhReAs B0 § FehaieE ¥ |
(d) Thg T TeTFHe FHOTRE UH-IER § Tatad T8l & E |
P
(1) W(d}wm (2) A (b) 3T (¢)
(3)  HAA (1) AT (¢) (4)  FEA (¢) 3T (d)
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